

FOR: Micro-Surfacing Treatment (South Western - West

Central)

#### **TABULATION OF TENDERS**

ROAD NO.: 1,50,250,261 & 276

BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain

and Ste. Rose du Lac Areas

LENGTH:

#### **SUMMARY OF PRICES**

CONTRACTOR	SECTION 1	SECTION 2	SECTION 3	SECTION 4	SECTION 5	SECTION 6	BID TOTAL	
West-Can Seal Coating Inc.	749,335.25	636,043.80	537,608.45	1,665,829.00	757,195.00	764,766.95	5,110,778.45	
Nelson River Construction Inc.	801,780.00	682,416.00	576,804.00	1,787,280.00	812,400.00	820,524.00	5,481,204.00	
MSO Construction Limited	841,775.00	717,780.00	606,695.00	1,879,900.00	854,500.00	863,045.00	5,763,695.00	

**TABULATION OF TENDERS** 

ROAD NO.: 1,50,250,261 & 276



FOR: Micro-Surfacing Treatment (South Western - West Central)

## TENDER NO. 6763

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION I: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 1 REGION 2

LOCATION: Vicinity of Elkhorn WORK ORDER NO.: P03093

BRIDGE SITE NO.:

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER  Nelson River Construction Inc.		NAME OF BIDDER  MSO Construction Limited		NAME OF BIDDER	
	ESTIMATED QUANTITIES		UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.) Extra Work (formerly Extra Work)	475 1	t \$	1,514.39 30,000.00	719,335.25 30,000.00	1,624.80 30,000.00	771,780.00 30,000.00	1,709.00 30,000.00	811,775.00 30,000.00		
				749,335.25		801,780.00		841,775.00		0.00
	BID TOTAL			5,110,778.45		5,481,204.00		5,763,695.00		0.00

**TABULATION OF TENDERS** 

ROAD NO.: 1,50,250,261 & 276



## TENDER NO. 6763

FOR: Micro-Surfacing Treatment (South Western - West Central) BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION II: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 1 REGION 2

> LOCATION: Vicinity of Brandon WORK ORDER NO.: P03116

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER  Nelson River Construction Inc.		NAME OF BIDDER  MSO Construction Limited		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	420	t	1,514.39	636,043.80	1,624.80	682,416.00	1,709.00	717,780.00		
				636,043.80		682,416.00		717,780.00		0.00
	BID TOTAL			5,110,778.45		5,481,204.00		5,763,695.00		0.00

**TABULATION OF TENDERS** 



#### TENDER NO. 6763

FOR: Micro-Surfacing Treatment (South Western - West Central)

ROAD NO.: 1,50,250,261 & 276

BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION III: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 50 REGION 2

LOCATION: Vicinity of McCreary WORK ORDER NO.: H04577

LENGTH: PROJECT NO.: 7458

NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER NAME OF BIDDER **MSO Construction Limited** West-Can Seal Coating Inc. **Nelson River Construction Inc. ESTIMATED** QUANTITIES **DESCRIPTION OF WORK** UNIT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT UNIT PRICE **AMOUNT UNIT PRICE AMOUNT** 355 Micro-Surfacing (Oil Supplied by Cont.) 1,514.39 537,608.45 1,624.80 576,804.00 1,709.00 606,695.00 537,608.45 576,804.00 606,695.00 0.00 **BID TOTAL** 5,110,778.45 5,481,204.00 5,763,695.00 0.00



**TABULATION OF TENDERS** 

FOR: Micro-Surfacing Treatment (South Western - West Central)

ROAD NO.: 1,50,250,261 & 276

BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION IV: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 250 REGION 2

LOCATION: Vicinity of Rivers WORK ORDER NO.: J03834

DESCRIPTION OF WORK		Γ	NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER  Nelson River Construction Inc.		NAME OF BIDDER  MSO Construction Limited		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	1,100	t	1,514.39	1,665,829.00	1,624.80	1,787,280.00	1,709.00	1,879,900.00		
				1,665,829.00		1,787,280.00		1,879,900.00		0.00
	BID TOTAL			5,110,778.45		5,481,204.00		5,763,695.00		0.00



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (South Western - West Central)

ROAD NO.: 1,50,250,261 & 276

BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION V: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 261 REGION 2

LOCATION: Vicinity of Riding Mountain WORK ORDER NO.: J04506

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER  Nelson River Construction Inc.		NAME OF BIDDER  MSO Construction Limited		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	500	t	1,514.39	757,195.00	1,624.80	812,400.00	1,709.00	854,500.00		
				757,195.00		812,400.00		854,500.00		0.00
	BID TOTAL			5,110,778.45		5,481,204.00		5,763,695.00		0.00



TABULATION OF TENDERS

FOR: Micro-Surfacing Treatment (South Western - West Central)

ROAD NO.: 1,50,250,261 & 276

BRIDGE SITE NO.:

LOCATION: Elkhorn - Brandon - McCreary - Rivers - Riding Mountain and Ste. Rose du Lac Areas

LENGTH:

SECTION VI: Micro-Surfacing Treatment (South Western - West Central) ROAD NO.: 276 REGION 2

LOCATION: Vicinity of Ste. Rose du Lac WORK ORDER NO.: J04508

DESCRIPTION OF WORK			NAME OF BIDDER West-Can Seal Coating Inc.		NAME OF BIDDER  Nelson River Construction Inc.		NAME OF BIDDER  MSO Construction Limited		NAME OF BIDDER	
	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Micro-Surfacing (Oil Supplied by Cont.)	505	t	1,514.39	764,766.95	1,624.80	820,524.00	1,709.00	863,045.00		
				764,766.95		820,524.00		863,045.00		0.00
	BID TOTAL			5,110,778.45		5,481,204.00		5,763,695.00		0.00